11.

12.

15.

16.
17.

20

BAPUAHT 11

[TpouHTErpUpOBaTH YpaBHEHUS
y'=(Q2y+1)ctgx;

2x+1)dy+ y*dx=0;
(y—x)ydx+x*dy =0;

x2dy + (4y> +3x%y)dx =0;

y' -4y =e*;

(X2 +1)y' +xy =x(x* +1);

Xy +2y = (X+3)xy’;

xdy — ydx
(4y* +2xy+3x>)dy+(y* +6xy+2x>)dx=0

O.

5

Cxdy+(x+ y)dx=0, y()=1;
y'=el (y'-D); 13. xy" = y’lnl’;
X
y=x(y)* +(y)*; 14, y"(y+1) =(y)’ +Yy';
y'+2y' =15y =0, 18. y"+y=2cos7x—3sin7X;
y(0)=1, Yy'(0)=0; 19. y"+y=4ctgx,
e 7 ' 2 .
y"'+o6ey"'+11y'+6y=x"+3; y(ﬁj:4, y'(z):4;
y'" =3y =2y =—4xe*; 2 2

. YKazarh CTPYKTYypy OOIIIEro peiieHus: ypaBHEHUs
9y" +24y'+16y = Xe* +cosX;
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15.

16.
17.

20

BAPHUAHT 12
[TpouHTETpUpPOBATH YpaBHEHUS
\/ﬁdx —xydy=0;
(x* +1) y'+4xy =0;
Xyy'=x"+y’;
xy'=2y(Iny —Inx);
(X+1)y' -2y =(x+1)*;
y =Xy’ — X* cosX;
x*yr +1=x>yy';

3
[Bx2(1+ Iny)x + (X7 _ Zy]dy ~0:

(x* +y? + x)edx + ye**dy =0;
2xy' -y =3x, y()=1;

(y)? =3xy'+3x* —p=0; 13. y"2y+3)-2(y)* =0;
Xy'—y=Iny’; 14. X’y" + x*y' =1;

y'=2y'-8y =0, 18. y"+4y'+4y=e*(sin X + cosX);
y(0)=2, y(0)=5; o 47

y"V +4y" 18y + 8y +3y =3x> -1 19.y"+6y +8y:2+92><’
Y'Yy =3xe™; y(0)=0, y'(0)=0;

. YKa3zaTh CTPYKTYpy OOIIETo perieHus: ypaBHEHUS

y" —2y'=2ch2x;
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15.

16.
17.

20

BAPHUAHT 13
[TpouHTETpUpPOBATH YpaBHEHUS
y'=xy® =2xy;
(10— Xx*)xy
Cos—y?
y'Xx=y(ny-Inx+1);
ydx + (2+/xy — x)dy = 0;
Xy’ — Y = X? cosX;

.
b

(X+Dy' —y=e*(x+1)?%;

Xy’ =2x*\y = 4y;

[3x* +cos(X+ y)Jdx+[cos(X+y)—3y*]dy=0
(2x+ y)dx+(x+2y)dy=0;

xy'=yinY, yy=t;
X
"2 Xy .
(Y —a_2:O= 13. y”sin4x=sin2x;
y =4xy’ —(y)*: 14. 2(y")* =(y-Dy";
9y"-12y"+4y =0, 18. y"+2y’'=3e*(sin X + cos X);

y(0)=0, y'(0)=1;
y" +y" =X +2; cos2X’
y'" =3y +2y = (4x + 9)e™; y(0)=2, y'(0)=0

19. y'+4y=

. YKa3zaTh CTPYKTYypy OOIIETo perieHus] ypaBHCHUS

y'—2y'+y=2e"-8cos2X;
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20

BAPUAHT 14

[IponHTErpUPOBATH YPAaBHEHHUS
2

X y
dx — dy=0;
x* +1 y? +1 d

J1+Inxdx—xydy =0;
2y'-x? = y? +6xy +4x%;
(x* + y?)dx —2xydy =0;
y'—y=e"sinx;

Xy +y=xlnx;
y' 42Xy =2X°y?;

2
(hl} y— 3yln X]dx+(% In* y—1In’® x)dyzo

X y
(5x+3y)dx+(3x—=7y)dy =0;

y'+ycosX = %sinzx, y(0)=0;

(y’)3_5(y’)2+y’+4:(); 13. y"+y'tgx =sin2x;
y=xy'—=(y'+2); 14. yy" —(y)* =0;

y"—-6y'+10y =0, 18. y" -4y’ + 8y =e*(2sinX — cosX);
y(0)=-1, y'(0)=0; "Ry —
yrrr+2yrr_yr_2y:2X_3; 19y _6y+8y_2+e—2x’

y -2y —y = dxe”: y(0)=1+3In3, y'(0)=10In3

. YKa3aTh CTPYKTYpY OOIIEro peuieHus: ypaBHEeHUs

"

y"'+y"=10sin X+ 6cos X +4e”;
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BAPUAHT 15

[IponHTErpUPOBATH YPAaBHEHHUS

XA/l = y2dx+ yv1-x*dy =0;

ax =—Cctg x-sinydy;

cos® Xcos Y
y’cosl = Xcosl—l;
X X X

(x* =3y?)dx +2xydy = 0;
y'—ctgx-y =sin® X;

y'+ ytg X =secX;
y'+2y=y’e’;

(lny—ljdx+(ﬁ—lnx)dy:0;
X y

(tgx + y +siny)dx+(ctgy + X + Xcosy)dy=0

Xy +y=2y*Inx, y(1)=0,5;

y=ayl+(y)*;

y(y)? =2x(y")’ +1;
y'+4y'+5y=0,
y(0)=-2, y'(0)=1;
y|V _6ynr+9yrr:3x_1;
y!N

+4y"+5y' +2y=(2x+16)e*;

COS2X

sin? 2x

14. yy"=y"+2(y")*;

18. y"+2y'+ 5y =—cosX;

13. y"=

1 1 X

19. y'+—y=—ctg=,

Y'Y=y 92
y(r)=2, Yy'(m)=0,5

. YKa3zaTh CTPYKTYpy OOIIETo peuieHus: ypaBHEHUS

y"'=2y'+10y =sin3x + e*;
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BAPUAHT 16

[TpouHTETpUpPOBATH YpaBHEHUS
2
VR
y =22,
2X
(1-x*)dx +3x3/ydy =0;
2xdy — y(2x* — y*)dx =0;
(y? =3x*)dy + 2xydx =0;
y' —2xy=(X+ l)eX2 :
Xy'—y==-2xlInx;

(1+x2)y' = xy +x*y?;
(3x? +6xy2)dx + (6X*y +4y?)dy =0;
(2xy +3y2)dx + (x> + 6xy —2y)dy = 0;

Xy =2xy+3, y1)=0;

X =2y +3(y)%; 13. 2yy" =1+ (y")?*;

LYy =Y (X+1-Y; 14. xy" =y'+x%;
y'+2y'-3y=0, 18. y"—4y'+8y=e"(-3sinX +4cosX);
y(0)=6, y'(0)=2; 10, v 1 3y = 9e¥
yfrl+3yu+2yf:3x2+2x; y + y_1+e3x’
yV £ 8y +16y = xe*; y(0)=1n4, y'(0)=3(1-1n2)

. YKa3aTph CTPYKTYpy OOIIETo pelieHus: ypaBHEHUS
y"" —1000y = 20e'°* —100cos10x ;
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BAPUAHT 17

[TpouHTErpUpOBaTH YpaBHEHUS
(1+x?)y'=xsin’ y;
ydx — (4 +x*)Inydy =0;
y
yx=xe*+y;
y—xy' = Xsecl;
X

X2y +2xy —Inx =0;
y'+ ytg X = cos’ X;

yx=y-xy";
y X
(arctg y+— jdx+£arctgx+ 5 ]dy:O;
X +1 y +1
2xydx + (x* —y*)dy =0;
X'y'+y?=2xy=0, y(1)=0;
y =0,25(y")*; 13. y"'(x=1)-y" =0;
y(y)’ +x=1; 14. 2yy" = (y")*;
y'—6y'+8y =0, 18. y"+2y'+5y=-2sinX;
0)=1, Yy'(0)=0;
y0)=1,y'0)=0; o yrey— .
y'"'—y'=3x" -2x+1; cosX

Y =7y +15y' =9y = (8x — 12)e¥; y(0)=1, y'(0)=0

. YKazaTh CTPYKTYypy OOIIIETO perieHus] ypaBHCHUS

y'—y' +4y =xe* +cos2x;
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BAPUAHT 18

[IponHTErpUPOBATH YPAaBHEHHUS

(5x> =1y +3x*y* =0;

sin” xcos” ydx —cos® xdy =0;
(y? —xy)dx+(x* =2xy)dy =0, y()=1;

xdy — ydx = ydy;

y'cosX =(y+1)sinX;
(1+ X2y +2xy = 2X;
y'+xy=(1+x)e"y;

[(y+De* +elJdx+[(x+1)e¥ +e*]dy =0;
(y—sinX)dx+(x+1)dy =0;

. cosy-sinxdx—siny-cosxdy =0, y(0)=

4 "2 8 "3
=X—— — .
y 9(y) +27(y) ;
2y(y")? =2x(y")’* +1;
y'+3y'+2y=0,
y0)=1, Yy'(0)=-1;

y|V +2yru_+_ y”:2—3X2;
y'+2y +2y=(x+2)e*;

z.

3 >

13. y" =2xy'(x> +2)7;
14. y'"xInx=y’;

18. y"+Yy=2cos3x — 3sin3X;

19. y"—6y’+8y:1 =5

+€e
y(0)=1+2In2, y'(0)=6In2

. YKazarh CTPYKTypy OOIIIEro peiieHus: ypaBHEHU

y"'+4y"=16sh4x;
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BAPUAHT 19

[IponHTErpUPOBATH YPAaBHEHHUS
y! — 10x+y ;

yle—X
X2y +y? =xyy';
(X +y7)y'=2xy;
y' —ytgx=e"secX;

=X-1;

(X+2)y' —y =X(X+2)%;

y'x siny = xy’' —2y;

(3x*y? +7)dx +2x’ydy =0;

(X% +3y2)xdx + (y* +3x*)ydy =0;

.(xy'=DInx =2y, y(e)=1;

!/ 1 ! 122 14
-(y)z—;=0; 13.(y) +yy'=yy';
y:6xy'+2(y’)3’ 14 y”(ex +1)+ y,:(),
2y"-T7y"'+3y =0, 18. y"+6y'+13y =e*cos8X;
y(0)=0, y'(0)=0,5; 19. y"+4y=4ctg2x;

" H:6 2 3 .
y y X" +5X > y(z) — 3’ y'(zj —_ 2
y'"—y" -5y —3y=—(18x+4)e"; 4 4

VKaszarh CTPYKTypy OOIIEro pelicHus ypaBHEHHSI
y'—y +0,25y =e**sin2x +1;



BAPUAHT 20

[IpouHTErpUpOBaTH YpaBHEHUS
x>y —cos2y =1;
y'(x+4x)=1-y;

(4x* —y?)dx +2xydy =0;

y' :X—ksinl;
X X

y'—yctg X =sin® X-cosX;

y'—yctg X =2XsinX;

o=

=W

3Xy' + 2y + xy? =0;

(X+2y)dx + ydy 0
(x+y)’

9. (X*+y?+2x)e*dx+2ye*dy =0

10. (x* =3xy?)dx+(y’ =3x?y)dy =0, y(0)=1

1. (Y)Y +6(y) +(y)Y =y +4=0; 13. y"(xX* +1)=2xy’;

b

12,y =xy'=y' = (¥)’; 4. yy"=(y) =y*;
15. y"=10y"+26y =0, V10 ;X(z )
_ O — 1 - 18. y'=2y'+10y=e COSX —sin X
0)=5 0)=1
y(0)=5, y(0)=1; o

16. y™ =3y +3y"—y'=x-3; g y"_3y'=

17. y" =5y’ =4xe>; 3+e
y(0)=4In4, y'(0)=33In4-1)

-3x ?

20. Yka3arb CTPYKTypy OOIIET0 pEIIeHUs] ypaBHEHUSI
y"" =36y =36 —72(cos6X +sin 6X);
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